Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci. Mathematics, **39** (4), 1-7 (2019).

Coefficient estimates for certain subclass of bi-univalent analytic functions

Deborah O. Makinde * · Rakib F. Efendiev · Hamzaga D. Orucov

Received: 02.02.2019 / Revised: 15.09.2019 / Accepted: 31.10.2019

Abstract. In this paper, we introduce and investigate the initial coefficients of the subclass of bi-univalent functions of the form $\Sigma D^m_{\alpha,\lambda}(p,q;\mu)$.

Keywords. Analytic · bi-univalent · linear transformation · coefficient estimate.

Mathematics Subject Classification (2010): 30C45

1 Introduction

Let A be the class of normalized analytic functions f in the open unit disc $U = \{z \in C : |z| < 1\}$ with f(0) = f'(0) = 0 and of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \in C,$$
(1.1)

and S the class of all functions in A that are univalent in U. This class of functions are one-to-one and onto, since it is define on the entire unit disk of the complex plane, thus, the inverse exists but the inverse may not be defined in the entire unit disc. The popular Koebe one quarter theorem established that every univalent function maps the unit disc to a disk of radius $\frac{1}{4}$. Thus, the inverse function for every univalent function $S \in A$ can be defined by

$$f^{-1}(f(z)) = z, \quad |z| < 1$$

and

$$f^{-1}(f(w)) = w, \quad \left(|w| < r_0(f); r_0(f) \ge \frac{1}{4}\right)$$

D.O. Makinde

Department of Mathematics, Obafemi Awolowo University, Ile-Ife, Nigeria

E-mail: funmideb@yahoo.com

R.F. Efendiev

Baku Engineering University, Department of Mathematics Teaching Khirdalan city, Baku, Absheron, Azerbaijan E-mail: rakibaz@yahoo.com

H.D.Orucov

Baku Engineering University, Department of Mathematics Teaching Khirdalan city, Baku, Absheron, Azerbaijan

^{*} Corresponding author

where, using (1), one obtains

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots$$
 (1.2)

We denote $f^{-1}(w)$ by $f^{-1}(w) = g(w)$, and write

$$g(w) = w + \sum_{n=2}^{\infty} A_n w^n$$

A function of the form (1) is said to be bi-univalent in U if both f and $f^{-1} = g$ are univalent in U. We denote the class of bi-univalent functions by Σ . The study of the coefficient of biunivalent functions started as far back as 1967 with the work of M.Lewin, see Lewin [1],[2] and the coefficient bounds of bi-univalent functions picked from the work of Brannan and Taha in 1986, see [3], and has gained the attention of several researchers in the recent years see [2], [4], [5], [6], [7], [8].

The author in [8] introduced a new linear differential operator for the analytic functions of the form (1) given by

Definition 1.1 Let $0 \le \lambda \le 1, \alpha \ge 1, m \in N \cup 0$. Then for $f \in A$, the operator $D_{\alpha}^m f$: $A \rightarrow A$ is defined by:

$$D^0_{\alpha}f(z) = f(z)$$

$$D_{\alpha}f(z) = (1 - \lambda)f(z) + z\lambda z f'(z)$$
(1.3)

$$D_{\alpha}^{m} f(z) = D_{\alpha} (D_{\alpha}^{m-1} f(z)) \tag{1.4}$$

$$D_{\alpha}^{m+1} f(z) = (1 - \lambda) D_{\alpha}^{m} f(z) + z \lambda (D_{\alpha}^{m} f(z))'. \tag{1.5}$$

such that $D_{\alpha}^{m} f$ is given by

$$D_{\alpha}^{m} f(z) = z + \sum_{n=2}^{\infty} \alpha \left(\frac{1 + \lambda(n + \alpha - 2)}{1 + \lambda(\alpha - 1)} \right)^{m} a_{n} z^{n}.$$

$$(1.6)$$

The importance of the coefficient estimates of the analytic functions cannot be overemphasized. Initial coefficient estimates is important in the evaluation of the Fekete-Szego functional and Hankel determinant among its other uses. Also, the author in [10] applied the generalized linear functions introduced in [9] to a disease control measure. Motivated by the work of Zireh and Audegani [14], using the differential operator in [8] we define a new subclass of bi-univalent functions and obtained the initial coefficient estimates for the subclass. For the differential operator of the form (6), with simple calculations with obtain the inverse function given by

$$D_{\alpha}^{m} f^{-1}(w) = w - t_2 w^2 + t_3 w^3 - t_4 w^4 - \dots$$
 (1.7)

where
$$D_{\alpha}^m f^{-1}(w) = D_{\alpha}^m g(w)$$
 and $t_2 = \left(\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m a_2\right)$,

$$t_3 = \left(2\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} a_2^2 - \alpha\right)^{2m}$$

$$t_{3} = \left(2\alpha^{2} \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} a_{2}^{2} - \alpha \left(\frac{1+\lambda(\alpha-1)}{1+\lambda(\alpha-1)}\right)^{m} a_{3}\right),$$

$$t_{4} = \left(5 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{m} a_{2}^{3} - 5 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{m} \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^{m} a_{2}a_{3} + 5 \left(\frac{1+\lambda(\alpha+2)}{1+\lambda(\alpha-1)}\right)^{m} a_{4}\right)$$

In what follows, we introduce and investigate the initial coefficient bounds of the subclass $\Sigma D^m_{\alpha,\lambda}(p,q;\mu)$.

2 Coefficient estimates for the subclass $\Sigma D^m_{\alpha,\lambda}(p,q;\mu)$

In this section we give the definition of our subclass of bi-univalent analytic functions denoted by $\Sigma D^m_{\alpha,\lambda}(p,q;\mu)$ and estimate the bound of its initial coefficients.

Definition 2.1 Let p, q analytic functions such that $p, q: U \to C$, p(0) = q(0) = 1 and

$$\min\left\{ \mathit{Re}(p(z)), \mathit{Re}(q(z)) \right\} > 0, z \in U.$$

Also, let f be as in (1), then f is said be in $\Sigma D^m_{\alpha,\lambda}(p,q;\mu)$ if:

$$f \in \Sigma \quad and \quad (D_{\alpha,\lambda}^m f(z))' + \mu z (D_{\alpha,\lambda}^m f(z))'' \in p(U),$$
$$(D_{\alpha,\lambda}^m g(w))' + \mu w (D_{\alpha,\lambda}^m g(w))'' \in p(U)$$
(2.1)

where $z \in U, w \in U \ \mu > 0$ and $D^m_{\alpha,\lambda}$ is as given in (7)

Theorem 2.1 Let $f \in \Sigma D^m_{\alpha,\lambda}(p,q;\mu)$ where $\mu \geq 0$; $\alpha \geq 1$; $0 \leq \lambda \leq 1$; m = 0,1,2,... and p,q satisfy the condition in definition 2. Then

$$|a_2| \leq \min \left\{ \frac{b^m}{2\alpha a^m (1+\mu)} \sqrt{\frac{|p'(0)|^2 + |q'(0)|^2}{2}}, \frac{b^m}{\alpha a^m} \sqrt{\frac{|p''(0)| + |q''(0)|}{12(1+2\mu)}} \right\},$$

and

$$|a_3| \leq \min \left\{ \frac{b^m(|p'(0)|^2 + |q'(0)|^2)}{8\alpha a^m(1+\mu)^2} + \frac{b^m(|p''(0)| + |q''(0)|)}{12\alpha c^m(1+2\mu)}, \frac{b^m(|p''(0)|}{6\alpha c^m(1+2\mu)} \right\}.$$

where $a = 1 + \alpha \lambda$, $b = 1 + \lambda(\alpha - 1)$, $c = 1 + \lambda(\alpha + 1)$

Proof. Let $f \in \Sigma D^m_{\alpha,\lambda}(p,q;\mu)$ and $D^m_{\alpha,\lambda}g = (D^m_{\alpha,\lambda}f)^{-1}$, thus by definition, we have respectively

$$(D_{\alpha\lambda}^m f(z))' + \mu z (D_{\alpha\lambda}^m f(z))'' = p(z), \quad z \in u$$
 (2.2)

and

$$(D_{\alpha,\lambda}^m g(w))' + \mu z (D_{\alpha,\lambda}^m g(w))'' = q(z), \quad z \in u$$
(2.3)

where p, q satisfies the condition of the definition 2 and

$$p(z) = 1 + b_1 z + b_2 z^2 + b_3 z^3 + \dots$$
(2.4)

$$q(z) = 1 + c_1 w + c_2 w^2 + c_3 w^3 + \dots (2.5)$$

Using (6) in (9) and (7) in (10) respectively give

$$1 + 2\alpha h_{21}a_2z + h_{31}a_3z^2 + \dots + h_{22}a_2z + h_{32}a_3z^2 + \dots = 1 + b_1z + b_2z^2 + b_3z^3 + \dots$$
 (2.6)

and

$$1 - H_{21}w + H_{31}w^2 - H_{41}w^3 + \dots - H_{22}w + H_{32}w^2 - H_{42}w^3 + \dots = 1 + c_1w + c_2w^2 + c_3w^3 + \dots$$
(2.7)

where
$$h_{21} = 2\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m$$
, $h_{31} = 3\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m$, $h_{22} = 2\mu\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m$,

$$\begin{split} h_{32} &= 6\mu\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m \text{ and } \\ H_{21} &= 2\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m a_2, \\ H_{31} &= \left(6\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} a_2^2 - 3\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m a_3\right), \\ H_{41} &= \left(20\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m a_2^3 - 20a_2a_3 + 4a_4\right), \\ H_{22} &= 2\mu\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m a_2, \\ H_{32} &= \mu(12\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} a_2^2 - 6\alpha \left(\frac{\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m a_3\right), \\ H_{42} &= \mu(60\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m a_2^3 - 60a_2a_3 + 12a_4\right) \\ \text{equating coefficients in (13) and (14), we obtain} \end{split}$$

$$2\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m (1+\mu)a_2 = b_1 \tag{2.8}$$

$$3\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m (1+2\mu)a_3 = b_2 \tag{2.9}$$

respectively

$$-2\alpha \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^m (1+\mu)a_2 = c_1 \tag{2.10}$$

$$6\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} (1+2\mu)a_2^2 - 3\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)}\right)^m (1+2\mu)a_3 = c_2 \quad (2.11)$$

Comparing (15) and (17), we obtain

$$c_1 = -b_1$$

and

$$4\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} (1+\mu)^2 a_2^2 = b_1^2$$
 (2.12)

$$4\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} (1+\mu)^2 a_2^2 = c_1^2 \tag{2.13}$$

From (19) and (20), we have

$$8\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} (1+\mu)^2 a_2^2 = b_1^2 + c_1^2$$
 (2.14)

Also, from (16) and (18), we have

$$6\alpha^2 \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)}\right)^{2m} (1+2\mu)^2 a_2^2 = b_2 + c_2$$
 (2.15)

Now from (21) and (22), we have

$$a_2^2 = \frac{(1+\lambda(\alpha-1))^{2m}(b_1^2+c_1^2)}{8\alpha^2(1+\alpha\lambda)^{2m}(1+\mu)^2}$$
(2.16)

Respectively,

$$a_2^2 = \frac{(1+\lambda(\alpha-1))^{2m}(b_2+c_2)}{6\alpha^2(1+\alpha\lambda)^{2m}(1+2\mu)}$$
(2.17)

Thus, from (23) and (24), using (6) and (7) we have

$$|a_2|^2 \le \frac{(1+\lambda(\alpha-1))^{2m}(|p'(0)|^2+|q'(0)|^2}{8\alpha^2(1+\alpha\lambda)^{2m}(1+\mu)^2}$$
(2.18)

Respectively,

$$|a_2|^2 \le \frac{(1+\lambda(\alpha-1))^{2m}(|p''(0)|+|q''(0)|}{12\alpha^2(1+\alpha\lambda)^{2m}(1+2\mu)}$$
(2.19)

And from (25) and (26), we obtain and our desired result for the coefficient $|a_2|$. Furthermore, from (16) and (18), we have

$$-6\alpha^{2} \left(\frac{1+\alpha\lambda}{1+\lambda(\alpha-1)} \right)^{2m} (1+2\mu)a_{2}^{2} + 6\alpha \left(\frac{1+\lambda(\alpha+1)}{1+\lambda(\alpha-1)} \right)^{m} (1+2\mu)a_{3} = b_{2} - c_{2}$$
(2.20)

Using (23) and (24) in (27), we obtain

$$|a_3| = \frac{(1+\lambda(\alpha-1))^m (b_2 - c_2)}{6\alpha(1+\lambda(\alpha+1))^m (1+2\mu)} + \frac{(1+\lambda(\alpha-1))^m (b_1^2 - c_1^2)}{8\alpha(1+\lambda(\alpha+1))^m (1+\mu)^2}$$
(2.21)

and

$$|a_3| = \frac{(1 + \lambda(\alpha - 1))^m b_2}{3\alpha(1 + \lambda(\alpha + 1))^m (1 + 2\mu)}$$
(2.22)

And from (28) and (29), we obtain and our desired result for the coefficient $|a_3|$. Hence, we conclude the proof of the Theorem 1.

Remark 2.1 For $m>0, \alpha>1$ and $\lambda\neq 0$, we have $|a_2|, |a_3|$ to a refinement of the $|a_2|, |a_3|$ in [14], thus, Theorem 1 is a refinement of the Theorem 2.3 in [14]. (2.) It is also noted that the linear differential operator in [8] generalize Al-Oboudi and Salagean differential operators. For $\alpha=1$ in [8], we have we have the Al-Oboudi differential operator [1] and for $\alpha, \lambda=1$ in [8], we have the Salagean differential operator [12]. Thus, Theorem 1 will give the result for Al-Oboudi and Salagean differential operators in place of the linear differential operator by the author in [8] when $\alpha=1$ respectively when $\alpha, \lambda=1$ in the Theorem. This is given in some of the corollaries below.

Corollary 2.1 Let $f \in D^m_{\alpha,\lambda}(p,q;1)$ where $\alpha \geq 1; 0 \leq \lambda \leq 1; m=0,1,2,...$ and p,q satisfy the condition in definition 2. Then

$$|a_2| \leq \min \left\{ \frac{(1 + \lambda(\alpha - 1))^m}{4\alpha(1 + \alpha\lambda)^m} \sqrt{\frac{|p'(0)|^2 + |q'(0)|^2}{2}}, \frac{(1 + \lambda(\alpha - 1))^m}{6\alpha(1 + \alpha\lambda)^m} \sqrt{|p''(0)| + |q''(0)|} \right\},$$

and

$$|a_3| \le \min \left\{ \frac{a^m(|p'(0)|^2 + |q'(0)|^2)}{32\alpha b^m} + \frac{a^m(|p''(0)| + |q''(0)|)}{36\alpha b^m}, \frac{a^m(|p''(0)|)}{18\alpha b^m} \right\}.$$

$$a = (1 + \lambda(\alpha - 1)), b = (1 + \lambda(\alpha + 1))$$

Corollary 2.2 Let $f \in D^m_{1,\lambda}(p,q;1)$ where $\lambda \geq 0$; m = 0,1,2,... and p,q satisfy the condition in definition 2. Then

$$|a_2| \le \min \left\{ \frac{1}{4(1+\lambda)^m} \sqrt{\frac{|p'(0)|^2 + |q'(0)|^2}{2}}, \frac{1}{6(1+\lambda)^m} \sqrt{|p''(0)| + |q''(0)|} \right\},$$

and

$$|a_3| \le \min \left\{ \frac{(|p'(0)|^2 + |q'(0)|^2)}{32(1+2\lambda)^m} + \frac{(|p''(0)| + |q''(0)|)}{36(1+2\lambda)^m}, \frac{|p''(0)|}{18(1+2\lambda)^m} \right\}.$$

Remark 2.2 The corollary 2 gives the Al-Oboudi differential operator for the subclass.

Corollary 2.3 Let $f \in D^m_{1,1}(p,q;1)$ where m = 0, 1, 2, ... and p, q satisfy the condition in definition 2. Then

$$|a_2| \le \min \left\{ \frac{1}{4(2^m)} \sqrt{\frac{|p'(0)|^2 + |q'(0)|^2}{2}}, \frac{1}{6(2^m)} \sqrt{|p''(0)| + |q''(0)|} \right\},$$

and

$$|a_3| \le \min \left\{ \frac{(|p'(0)|^2 + |q'(0)|^2)}{32(1+2)^m} + \frac{(|p''(0)| + |q''(0)|)}{36(1+2)^m}, \frac{|p''(0)|}{18(1+2)^m} \right\}.$$

Remark 2.3 The corollary 3 gives the Salagean differential operator for the subclass.

Corollary 2.4 Let $f \in D^m_{1,0}(p,q;1)$ where ≥ 0 ; m = 0, 1, 2, ... and p, q satisfy the condition in definition 2. Then

$$|a_2| \le \min \left\{ \frac{1}{4} \sqrt{\frac{|p'(0)|^2 + |q'(0)|^2}{2}}, \frac{1}{6} \sqrt{|p''(0)| + |q''(0)|} \right\},$$

and

$$|a_3| \le \min \left\{ \frac{(|p'(0)|^2 + |q'(0)|^2)}{32} + \frac{(|p''(0)| + |q''(0)|)}{36}, \frac{|p''(0)|}{18} \right\}.$$

Remark 2.4 The corollary 4 agrees with the Theorem 2.3 in [14].

Corollary 2.5 Let
$$p(z)=q(z)=\left(\frac{1+\frac{z}{k}}{1-\frac{z}{k}}\right)^{\beta}, \quad 0<\beta\leq 1, k\geq 1.$$
 Then

$$|a_2| \le \min \left\{ \beta \frac{(1 + \lambda(\alpha - 1))^m}{\alpha(1 + \alpha\lambda)^m (1 + \mu)}, \frac{\beta(1 + \lambda(\alpha - 1))^m}{k\alpha(1 + \alpha\lambda)^m} \sqrt{\frac{2}{3(1 + 2\mu)}} \right\},$$

and

$$|a_3| \le \min \left\{ \frac{\beta^2 a^m}{k^2 \alpha (b^m (1+\mu)^2)} + \frac{2\beta^2 a^m}{3k^2 \alpha b^m (1+2\mu)}, \frac{2a^m}{3k^2 \alpha b^m (1+2\mu)} \right\}.$$

where
$$a = (1 + \lambda(\alpha - 1)), b = (1 + \lambda(\alpha + 1))$$

3 Conclusion

The linear transformation employed in this paper extends the Salagean and Al-Oboudi operators and the result is a generalization of the work of Zireh and Audegani in [14].

References

- 1. Al-Oboudi, F.M.: *On univalent functions defined by a generalized Salagean operator* Int. J. Math. Math. Sci. no. 25–28, 1429–1436 (2004).
- 2. Ali, R.M., Lee, S.K., Ravichandran, V., Supramaniam, S.: *Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions*, Appl. Math. Lett. **25** (3), 344-351 (2012).
- 3. Brannan, D.A., Taha, T.S.: *On some classes of bi-univalent functions*, Studia Univ. Babe-Bolyai Math. **31** (2), 70-77 (1986).
- 4. Frasin, B.A., Aouf, M.K.: *New subclasses of bi-univalent functions*, Appl. Math. Lett. **24** (9), 1569 -1573 (2011).
- Hamidi, S.G., Halim, S.A., Jahangiri, J.M.: Faber polynomial coefficient estimates for meromorphic bi-starlike functions, Int. J. Math. Math. Sci. Article ID 498159, 4 pages (2013).
- 6. Jahangiri, J.M., Hamidi, S.G.: *Coefficient Estimates for Certain Classes of Bi-Univalent Functions*, Int. J. Math. Math. Sci. Article ID 190560, 4 pages (2013).
- 7. Lewin, M.: *On a coefficient problem for bi-univalent functions*, Proc. Amer. Math. Soc. **18**, 63-68 (1967).
- 8. Makinde, D.O.: *A new multiplier differential operator*, Advances in Mathematics: Scientific Journal **7** (2), 109 -114 (2018).
- 9. Makinde, D.O., Hamzat, J.O., Gbolagade, A.M.: *A generalized multiplier transform on a univalent integral operator*, Journal of Contemporary Applied Mathematics, **9** (1), 31-38 (2019).
- 10. Makinde, D.O.: A Generalized Multiplier Transform on a P-valent Integral Operator with Application, American Journal of Applied Mathematics and Statistics, 7 (3), 115-119 (2019).
- 11. Srivastava, H.M., Mishra, A.K., Gochhayat, P.: Certain subclasses of analytic and bi-univalent functions, Appl. Math. Lett. 23 (10), 1188-1192 (2010).
- 12. Salagean, G.S.: Subclasses of univalent functions, In: Complex Analysis, Fifth Romanian Finnish Seminar, Part I (Bucharest, 1981), *Lecture Notes in Math.* **1013**, 362-372, Springer, Berlin (1983).
- 13. Vijaya, R., Sudharsan, T.V., Sivasubramanian, S.: *Coefficient Estimates for Certain Subclasses of Biunivalent Functions Defined by Convolution*, Int. J. Anal. Art. ID 6958098, 5 pp. (2016).
- 14. Zireh, A., Analouei Audegani, E.: Coefficient estimates for a subclass of analytic and bi-univalent functions, Bull. Iranian Math. Soc. **42** (4), 881-889 (2016).